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Cumulative Review #2.1

Show work for all questions for full credit 
& write your answers on the lines provided!!!
(If you feel no work is needed you must explain your reasoning.)


1.  Which ordered pair is not a solution of the equation y = 3x − 3?

	A.  (−1, −1)

	B.  (0, −3)

	C.  (1, 0)

	D.  (2, 3)



									1. ______________


2.  Simplify (2m + 3)2.

	A.  4m2 + 9

	B.  4m2 + 12m + 9

	C.  2m2 + 12m + 9

	D.  2m2 + 6m + 9



									2. _______________




3.  Solve the following equation for t.


			q = (s + t)









									3. _______________

4.  Evaluate (2x − 3z)2  when x = −2 and z = −6.










									4. _______________


5.  Solve and check the following equation:   


		(24 − 8x) = 2(5x + 1)









									5. ________________
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